Example 1
AP 01/04/2007 to 31/03/2008
	Profits chargeable

£325,000.00 at 30%

Less Marginal Relief 

Tax payable
	£97,500.00

£29,375.00
£68,125.00


	Tax paid on due date 01/01/2009
Return filed on 31/03/2009
	


Postings

	01 PYT

02 SAM
	68,125.00 EDP 01/01/2009
68,125.00



A claim to carry back a loss of £50,000 from the APE 31/03/2010 is received on 31/03/2011.  The return is amended to show

CT Profit £325,000 less loss £50,000 = £275,000 at 20% = £55,000

The postings that the computer should create are

	Existing postings



	01 PYT

02 SAM
	68,125.00 EDP 01/01/2009
68,125.00


	New postings



	03 SAM

04 SAA

05 LOS
	-68,125.00
68,125.00 (CT in amendment + LOS)

13,125.00 EDP 01/01/2011



In reality the computer would not arrive at the correct ‘LOS’ posting in this case.  It would calculate the posting as follows

Amended CT profit £275,000 + Loss £50,000 = £325,000 at 20% = £65,000 Less CT due in amendment £ 55,000.  LOS 10,000

The true tax effect of the loss carry-back, which ought to be reflected in the ‘LOS’ posting, is £13,125.00.  You cannot arrive at this figure by simply multiplying the amount of the loss by either the full CT rate or the small companies’ rate.  This is because as well as £50,000 no longer being in charge because of the loss carry-back, the remaining £275,000 still in charge is now charged at 20% instead of 30%.

The Postings that the computer will create are

	Existing postings



	01 PYT

02 SAM
	68,125.00 EDP 01/01/2009
68,125.00


	New postings



	03 SAM

04 SAA

05 LOS 
	-68,125.00
65,000.00

10,000.00 EDP 01/01/2011



The repayment is correctly calculated as £13,125.00 (Tax paid £68,125.00 less tax due in the amendment £55,000).  In computer terms this is PYT 68,125.00 + LOS 10,000 less SAA 65,000.

Repayment interest should be calculated on the repayment of £13,125.00 from the due date for the AP from which the loss is carried back until the date the repayment is made.

Repayment Interest

In this example the computer will calculate repayment interest by reference to the EDPs of the various payment type postings, taking the latest first.  It will, therefore, look at the ‘LOS’ posting of 10,000 and repay that using 01/01/2011 as the date of payment for repayment interest purposes.  The balance of the repayment will be made by reference to the ‘PYT’ posting using the date of payment 01/01/2009 for repayment interest purposes.

This is where the error will occur.  £3,125.00 of the repayment will carry repayment interest from 01/01/2009 when there is no repayment interest due to the company for any period before 01/01/2011.
